1074

1072

09“10 56 =4 =3 0

2 4 6 8 10

[ pull of goverp parameter |

1074

1072

-
<
|

=== DOM_original_I000ev

e D

M_fitted4 IOOOevt

[pull of @parameter |

107}

1072

107

iy

09‘10 56 =4 =3 0

[ pull of dxy parameter |

2 4 6 8 10

107}

1072

H

S
B
T

Foolo]

o Lo

é F ol compmsmimmnn = !
I e

0955

20

2 4 6 8 10

TIES

107

onstam

of§§§
T

1gma

o;.w:"""'!"' .
E r O —p—
i it A

09‘10 56 =4 =3 0

[ pull of dz parameter

2 4 6 8 10

1074

1072

107

10

o J..UJ:I
‘(_5' L
a4 [
[ e e e

0G5



	Contents
	Page 1


